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Problems on Addition with 4-Digit & 5-

Digit Numbers 

 

Now we will learn to solve word problems involving 4-digit 

and 5-digit numbers. 

Solving word problems is easy. You just have to carefully 

analyze the problem, collect the data provided and 

simply add them. 

Look at the following example. 

Example:  

There are 23,500 people living in city A and 55,985 people living in 

city B. What is the total number of people living in both the cities? 

Solution:  

We will simply add the number of people living in both the cities to 

find the total number of people. 

                   23500 + 55986 = 

              

        2 3 5 0 0           

   +   5 5 9 8 6 

      7 9 4 8 6 

So, 79486 people live in both the cities. 

79486 


